634. 0
604. 0 ey T
428.0 | —25.0 Positioning Tool
* 196.0
: —52.0 1 K H : H H
D k3 3 4 @ — o °
l. 4 o & 1 ZET E
S ~ o — ] | =
= = & S o
o & & & a— 6| 4 & —_|® . .
o
S 0
. . . . 750. 0 .
o
o & & s 4 & ° ¢
O ]
g  60.0— i
i, \ : : e A IHL
g s \XX $ \a — P e - - - o ) Ji Y
+ 6.0 L] [ 1 [T
56. 0 212.0 o
BEHE
sk 1 TR 210.0 210.0 Wall-mounted Plate
A ‘ BEFEFESY
1) ARYREARCS, BE LR Wall-mounted Hook
2) FEM LA E AR b, FHICTEET E D emm UL ER G TERIC .
3) BUFENL L4, fEARCAbES L, FFLEMI0ZKIRME . 566. 0
4) FEEEEAR _Eum I 1ommALEE R 22 S 2K IS ) SR IS R e ML E 383. 0
5) FGBEFER _Euw P 10mm LI 2 A A I KR RS FIC S R e D LA 234.0
6) TESTHRICAMENSL, FFZBEMI10ZAKIZ S . _ -
7) VWA B B RS L R M OB R T 1£5
8) A HIMI0FYBRET 14 BEFE A4 [ E 2 o8~ o nas A AT DY MRFL £ (PE 5 428mm*500mm) o [ 76. 0 } 4
9) WL FERA I N a R R BE AR L — — = —

Installation steps:

1) Determine the wall hanging position according to the drawing size.

2) Place the positioning tool on the wall and mark it on the wall with a marker through four 6mm holes.

3) Remove the positioning tool, drill holes at the marked positions, and install M10 expansion bolts.

4) Hang the two 10mm holes at the upper end of the wall-mounted plate onto the two expansion bolts on the left, and then mark the positions of the other four holes with a marker.
5) Hang the two 10mm holes at the upper end of the wall-mounted plate onto the two expansion bolts on the left, and then mark the positions of the other four holes with a marker.
6) Drill holes at 8 marks and install M 10 expansion bolts.

7) Hang the two wall-mounted plates on the expansion bolts and fasten them with M 10 nuts.

8) Use M10 screws to fix the wall-mounted hook to the four screw holes on the inside of the 98-inch display (distance 428mm * 500mm).

9) Hang the monitor with hook on the wall-mounted panel.

1 2 3 4 5 6 1 8




